—=ETYN-RI-)
£330 ZFRI VVEFYITYA—TTRT 1/

68228 (B)
s2a XY ISDYE
#S|[ memm || 7 | < =T A | B
HeBES 1-4 15 HeBES 46 47
1 9:00~9:35 1-1DBE Vs 1-205 3% VS 1-30#E 9:00~9:45 4-20F VS 4-30D#E 4-ADBEE VS 4-5DBE
B 2-5niE 2-TOHE E= 6-30KE 6-4DBE
HeBES 2-9 2-10 HeES 6-6 6-7
2 9:45~10:20 2-5MEE Vs 2-60DE 2-TOE Vs 2-8DEE 9:55~10:40 6-3DEE Vs 6-3DEE 6-4DBEE VS 6-5DIFE
B 1-408E 1-508E E= 4-608E 4-TOHE
HEBS 3-9 3-10 HEBS 5-3
& 10:30~11:05 3-5D8E Vs 3-6DIE 3-TOBE Vs 3-8DE 10:50~11:35 5-10BE vs fBA
2-90HE 2-1008E B2 6-6DHE
HeBES 1-6 -7 HeES 48 49
4 11:15~11:50 1-4DRE Vs 1-5OHE 1-40BE vs 1-50BE 11 :45~12: 30 4-6MME VS 4-TOHE 4-6DEE VS 4-TOBE
I 3-90HE 3-1008E E= 5-308E 6-7TDHE
HeBES 2-11 | 2-12 | HeES 6-8 69
5 12:00~12: 35 2-O08E VS2-10DHE | 2-9DE vs2-10DE 12 :40~13:25 6-6MUE VS 6-TOME 6-6DBE VS 6-TOBHE
Is 1-6DEE | 1-7TORE | B 4-8M8SE 4-9M8E
HEES 3-11 | 3-12 [ HEES 5-4 55
6 12:45~13:20 3-O0HE VS3-10DHE | 3-9DEE vs3-10DHE 13:35~14:20 5-208E Vs 5-3DHE 5-20E Vs 5-3DBE
Is 2-11 DS | 2-12085 | B 6-8NEE 6-ONHE
B HE8S
7 13:30~14:05 14 :30~15:15
e
B HE8S
8 14 :15~14:50 15:25~16:10
Is B
HE8S
9 15:00~15:35
Is
HE8S
10 15:45~16: 20
Is
EyFE U " Ly TR mU it
— 3-110OmWF—L 3-120@F—AL — 5-40@F—L1 5-5D@F—1




